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import numpy as np
import pandas as pd

import scipy as sp

import matplotlib.pyplot as plt

import sklearn

import seaborn as sb




y

[-12.1], [-11.2],
[-4.4], [-3.0], [
[4.4], [5.1], [5.8

pd.DataFrame([[-40], [-38], [-36],
[-20], [-18], [-16],
[2], [4], [6], [8],

(axis=0)
(axis=0)
(X - min_of X) (max_of X

(axis=0)
(axis=0)
min_of_y) (max_of_y

def gradient_descent_to_get w _b(tra_x, tra_y, w, b, alpha):

[-6.1], [-4.9],
[1.7], [3.2],

[-28], [-26], [-24], [-22],
[-8], [-6], [-4], [-2], [e],
[18]])




derivative of w = tra_x.T.dot(loss)

sum_of_loss (%]

for v in ( (loss)):
sum_of_loss loss.loc[v]

derivative of b sum_of_loss

alpha derivative of w

alpha derivative of b

return w.loc[@, @], b.loc[0]




iter_number_of_test

input_the w

input_the_b

input_the_alpha

for t in (iter_number_of test):

input_the_w, input_the_b = gradient_descent_to_get w_b(tra_x=train_X, tra_y=train_y,

w=input_the_w, b=input_the_ b,
alpha=input_the_alpha)

, input_the_w)
, input_the_b)

plt.title(

liner_x np.linspace(X. ), X. (), 500)

liner_y [input_the w * x_of _liner input_the_b for x_of_liner in (liner_x)]

plt.plot(train_X.loc[O: (train_X), @], train_y.loc[@: (train_y), 0], , label

.plot(test X.loc[ (train_X):, 0], test y.loc| (train_y):, @],

.plot( (liner_x), (liner_y),

.xlabel(

.ylabel(

.legend()

.show()
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numpy np

farn

1S 'E pandas pd
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matplotlib.pyplot

External Libraries
Scratches and Consoles

Liner Regression

Training Data
Testing Data
Run: @ ml1 . Current Hypothesis e

E:\Users\1\anaconda3\python.exe C:/Users| 5 /machine_14
input the iter number:
input the w number:

input the b number:

input the alpha number:

w is: 3.5261357990083777
b is: -1.0671614048946758
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numpy np ) Figure 1
pandas pd

Liner Regression

- matplotlib.pypl .
External Libraries . Training Data

Scratches and Consoles Testing Data
Current Hypothesis

e ml1 o —
E:\Users\1\anaconda3\python.exe C:/Users/1/Desk Y >]/machine_14
input the iter number: :
input the w number:
input the b number:
input the alpha number:

w is: 1.0106764822307113
b is: -0.008526580180172693

>
F
=
]

# €> $Q= x=0.200476  y=0961242
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